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Science Bimonthly Test  June 8, 2020 

Total Marks – 20                             Class 10th                                       Time – 40 Min 

                                 Part (A)             1 Mark Question         (𝟏 × 𝟔 = 6 ) 

Q1:- Which of the following Constitute a food chain:-  

      hyT iliKAw iv`coN ikhVy Bojn lVI dw inrmwx krdy hn:- 

A. Grass , Wheat and Mango         a) Gwh, kxk Aqy AMb 

B. Grass, Goat and Human            A) Gwh, b`krI Aqy mnu`K 

C. Goat ,Cow and Elephant           e) b`krI, gW Aqy hwQI 

D. Grass, Fish and Goat                  s) Gwh, m`CI Aqy b`krI 

Q2:- No matter how far you stand from a mirror, your image appears erect. The mirror is likely to be: 

iksy drpx qoN qusI ikMnI vI dUrI a`qy KVy hovo, quhwfw pRqIibMb hmySw hI isD̀w pRqIq huMdw hY, sMBv qOr qy ieh 

ikhVw drpx hY:-   

A. Plane mirror                                                             a) smql drpx 

B. Concave  mirror                                                        A) Avql drpx 

C. Convex mirror                                                            e) a`uql drpx  

D. Either plane mirror or convex mirror                    s) jw qW smql drpx jW a`uql drpx 

Q3:- Where should an object be placed in front of a CONVEX LENS to get a real image of the same size of the 

object?         

iksy vsqU dw vwsqivk Aqy smwn Awkwr dw pRqIibMb pRwpq krn leI vsqU nUM auql lY`nz dy swhmxy ik`Qy r`iKAw 

jwvy? 

A) At the principal focus of the lens (F)            a) lY`nz dy mu`K Poks au`qy (F) 

B) At twice the focal length (2F)                        A) Poks dUrI dI du`gxI dUrI (2F) au`qy 
C) At infinity                                                           e) AnMq au`qy 
D) Between the optical centre of the lens        s) lYǹz dy pRkwS kyNdr Aqy muK̀ Poks dy ivckwr                  

      and its principal focus                                                              

Q4:- Complete the following Chemical equation. 

        hyT ilKI rswieixk smIkrx nUM pUrw kro. 

                 Fe +CuSO4→   ___________+Cu   

Q5:- Write the name of the mirror which can form erect and enlarge image of an object. 

      aus drpx dw nW ds̀o jo vsqU dw is`Dw Aqy vf̀w pRqIibMb bxw sky[ 

Q6:- An atom has electronic configuration of  2, 8, 7. what is the atomic number of this element? 

      iksy prmwxU dI ielYktRwnI qrqIb 2,8,7 hY[ies q`q dw prmwxU AMk kI hY? 
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 Part (B)            2 Marks Questions     (𝟐 × 𝟒 = 𝟖) 

 

Q7:- Which mirror is used in the following ray diagram? Write the properties of the image formed. 

      id`qy hoey ikrn ryKw  ic`qr ivc̀ ikhVw drpx vriqAw igAw hY? pRiqibMb dy l`Cx d`so [  

 

 

Q8:- Which element has (a) two shells, both of which are completely filled with electrons? 

                                         (b) The electronic configuration 2, 8, 2? 

         iks q`q iv`c     (a) do SY`l huMdy hn Aqy d`vyN ielY`ktRwnW nwl pUry Bry huMdy hn?                                                                      

(A) ielY`ktRwnI qrqIb 2, 8,2 hY? 

 Q9 - What is meant by exothermic and endothermic reactions? Give examples. 

       qwp inkwsI Aqy qwp soKI ikirAw qoN kI Bwv hY? audwhrxW idE[ 

Q10- Label the part A, B, C and D in the given diagram of human eye. 

mnu`KI A`K dy ic`qr ivc̀ BwgW A, B, C Aqy  D dy nWm ilKo[ 

                                          
                Part (C)           3 Marks Question     (𝟑 × 𝟐 = 𝟔)                                 

    

Q11: - Why are decomposition reactions called the opposite of Combination reactions? Write equations for  

 these   reactions. 

ApGtn ikirAwvW nUM sMXojn ikirAwvW dw ault ikauN AwiKAw jWdw hY? iehnW ikirAwvW leI smIkrxW ilKo[   

Q12 - What is ozone layer? How does it affect the ecosystem? 

        Ezon prq kI hY? ieh pRsiQiqk pRbMD nUM ikvyN pRBwivq krdw hY?      


